MCHQ %51

HBEFT

THE T

mindman

Rk
® Sl 1 L AE A o Lk — i BT RE Bl 27 e 22 [A] HL RS T HE—fige
e B

o ILRBEIC R R B PR - MRS - JF AP R B T RE L -
© WIFEE{ » BMEKERE £0.05mm - H AT nE A 2Rk -

Rk -
RUGR MCHQ
(EIpSEN (ol
AT 64 80 100 125 160
782 (mm) 12 16 20 26 32
STHE(Cg - foi I O e 724, 0.3~0.7 MPa
MCHQ 64 M OS J%?Elg _1O°C~+60°C (Z:z%%lj:l:)
EERli] AFEAEH
—L\ R RH : #55:%, RHN : NPN, RHP : PNP
e - T (kg) 028 | 045 | 076 | 14 | 25
BiER THREE  M:WBRO gy Jr— sy AT -
- RUBARIIHI  sumamms Y-
5 e X SCHE D) A A T U
100
125
160
THIFAE 2 BRI 0.6 MPa fitfs
MCHQ-64 MCHQ-80 MCHQ-100
PR ARFF L AF1.2kgAL=20mm PR ] ARFF LAF1.8kgAL=25mm PR W] ARFE T {F2.8kgAL=32mm
400 500 900
Z 300 fo< Z 400 == ~ 750
3. b~ =
= 200 S = 500 — \%Q R 600 == —~—|- 0]
% kil % : -
% 100 % 200 W ﬁ 450 E— ;
0 0 300 W
0 25 5 75 100 0 10 20 30 40 50
KERE L(mm) FFERE L(mm) 0
0 25 50 75 100 125
REFEE L(mm)
MCHQ-125 MCHQ-160
S TTACHE T1F4.5kgiL=32mm BT 94 1116 5kg i L=40mm
1250 1600
SFFRIE
=1000 |- ~ 1200 Rt S L (mm) [
Z T~k 3 T -f--
e e R g L —— T
# k- # % -
2 500 2
400 ’*’*.«’*’
250 |
%025 50 75 100 125 180 0 25 950 75 100 125 150 B 510 (< ) = — — —
IHFEIE L(mm) FHFFERIE L(mm) 5161 (b )

© iR TAC {1 Bl 1R 9 12 PR 4 R BRI IR 1 A
S GEEE MBS TR H R AY10~2065
L,U:IHJJE’J%EE

® A T {EV S I A5 DR T 5ak R e 1y R ' P
DR TERZER -

mindman




MCHOQ SBR 64~160

—— - :
SEEITH T mindman
C
0s ™ 5 L B
i ‘ ‘ H
SNl ] I R i e
1 < 1
| | (@) |
P T
w ) U
T Q1Y 1 ©
w
E 73 O — 2-TT
2 [ @ ki 3
— 1t - e — I S <
© &
B e IE O
| | e | | XX
2.0 /| l-———_ | [ 4-MM
N2 N1
H
gﬁ A|B|CID|E|F|IG(H|I [J|K|L|M MM N1 | N2 [ O [OA|OK| OP | OS QQ T TT
MCHQ-64 64|36 42| 2 4113 | 5|27| 42(16| 22| 27| 19| M5X%0.8 7 16.5| 4|4 [ 20| 10 17 | M4 X 0.7 X 8% 20| M5x0.8
MCHQ-80 80|42 51| 3 5|16 | 6|32 52(21|23|34|24|M5x0.8 8 195|¢65(5 | 25| 12 | 23 | M5X0.8X10% | 25| M5 0.8
MCHQ-100 [ 100| 50| 59| 3 6|20| 8| 38| 66|46|20(40|30|M6X1.0 95|215|¢6|6 32| 14 | 27 |M6X1.0x10% | 28 Rc1/8
MCHQ-125 [ 125| 60| 68| 5 8|24 | 8| 45| 82(55| 36|44|38| M8x1.25|10.5| 22 $6|85(40| 16 | 30 |M6X1.0X12% | 36 Rc1/8
MCHQ-160 [160| 72| 8235|1132 |10|56|100| 58| 34| 55|50 | M8x1.25 |12 32 »8|9 50| 20 | 40 | M8Xx1.25X 16%| 46 Rc1/8
o uu XA XX
MCHQ-64 d4.2 EHil, dpT7T.5X26 % | v4| 4.5 FHiE, ¢8X9 % 25
MCHQ-80 4.2 EHiE, ¢ 7.5X34 % | 64| $5.1 Hil, $9X 10 %
MCHQ-100 | 650 &iF,$9.1xX45% | 65| ¢8 &, o 11X 11 &
MCHQ-125 | ¢6.8 Hili, 0 11 X413 | ¢6| ¢9 Hil, ¢15X14 % |35
MCHQ-160 | ¢6.8 E3H, 011 X56 % | ¢6| ¢9 Hil,d 15X 15 %

/Y1 a7 5

RHV U5

RH 75

slot breadth
L107001

giﬁ L1 L2 L3 L4 L5 L6 L7 L8 L9 | L10
MCHQ-64 | 20 | 13 | 4 5 4 | 25102 45 | ¢45| 4
MCHQ-80 25 | 16 | 5 6 5 | 3 [122| 55 | ¢55| 5 AC/DC: 4~120V
MCHQ-100 | 32 | 20 | 6 8 6 | 3 |142| 55 | 66| 6
MCHQ-125 | 40 | 24 | 85| 8 8 | 35162 | 55 | $66| 6
MCHQ-160 | 50 | 32 | 9 |10 |11 | 4 |202] 65 |9 8

M mindman




MCHQ-OS el / SHBRST 64-160

HEF T T

REFII LG BE S E

R ST &%/ 5 bars, fA 6.5 bars.

REFT] = Z2IEAEFT ] + i

@ YRGB %R 0.6 MPafiifs

mindman

MCHQ-64-0S BTk (1.2 kghiL=20mm MCHQ-80-0S S TI5cFs T{F1.8 kgfiL=25mm MCHQ-100-0S B35k T-{£2.8 kgfiL=32mm
500 6 800
_ 400\\ - OO\\ 650\\\
3 ~ g 50 < 3 <
G Ny
R 300 ~ R 400 ~ R 500
& 200 K 300 350
0 25 50 70 100 0 25 50 75 100 125 0 25 50 75 100 125 150
REFEE L(mm) FFRFEE L(mm) REFEE L(mm)
MCHQ-125-0S  #Em ] sFE L1F4.5 kgfrL=32mm MCHQ-160-OS #i3iF]FE LF6.5 kgfrL=40mm
1500 2000
\
Z 1250 Z 1600 T~
3 @ = [é,‘—j\\
R R 1200
= 1000 ~J p
K 750 R 800
0 25 50 75 100 125 150 0 25 50 75 100 125 150
RFFEE L(mm) KRR L(mm)
WHF 1L A B E T S SR AR ER IR - BT ) T R PR R AR Fp IR e
2 HA1 B1
Cc1
G1 7
- L\
o 61
TP
=] B 2F1
© G
- ' o
B 1
@ b
= =
o l/ﬁ
O & o
L N
Lo
s A1|B1|C1|D1|E1|F1|G1| H1
MCHQ-64-0S 36 35.5 9 7 7 M5 | 25 67
MCHQ-80-OS 45 415 2 12 14 M5 | 27 78
MCHQ-100-0S 54 495 | 155 | 17 12 M5 | 26.5 85.5
MCHQ-125-0S 66 59.5 | 10 22 22 M5 | 344 | 102.4
MCHQ-160-0S 80 715 | 126 | 26.5 25 M5 | 39.2 | 121.2

mindman




	1_規格
	2_外觀尺寸
	3_性能圖表

